Varia P stair-L single.idw

DET.C

Norway 1000

5000000 ] _§
HOOOOOOO N
loocooooo - | 8 DET.A DET.B DET.C
0000000 o s (R
OO0OO0OO0O00O0
0000000 = Ole
0000000 8 N
OO0OO0OO0O00O0 = — ~— N )N | | ]
0000000 . = 3 Ollpbooocoooa ;;7 N Olg End parf
0000000 SN Ollbooooosgf | i§< / Sl ahR B
|/OOOOOO0O0 8 ) )OOO0O0O0O0O0 N O ~
HOO0O0O00O0 ) OO000000 ~ Connector 1 ]
l—| O ® O
ONONONONONON® POOOOO0O0 D @
il ; Ol oooocooo R&w @ @ O
1L F%E L ) OO OO0 0O0O0 0000000 O @ [ —
- — — OO0OO0OO0OO8OH
& | 0000000 po| BETS e 3 O
B 0000000, Ol L H =
A A 0000000 g Oll/ Iz N
O — L
| T’E Q =
50 @g E
@ @
O
oo 0q||E .
P 0 codq|| K
6o00d|||K 5
| H 0000Oq| |15 O
» OO0O0O0OOd A
8©e§3©©©©©©< (i | i
OO OO0 O0OOddL
54 SNBSS caaaadr oy | } Connector 1
/ O COdl|llpoo0O0OOO = £
DET'Ag, OO 0O0O( DO0O0O00O0 pm {(53
g OO0O000O( D00 O00 N
OO000O0OO(d D00
J|rcoocoood|libg 5
ol | BP 000000 Perforated sheet t=15 !
o OO OO0 0OO( errorared sneer r=1omm ]
2 Sl llppooooo - O
= QI PP o000 @10 trianqular pitch 15mm =
O o A OXOXO)
g Sipoo
w
A 0 O
O 0 <3
o
)
N Assembly of handrail Handrail bracket qual. A4
. SN brackets to posts
All sharp edges must be grinded NNNN 65
‘ = :\:\:\:\ M| QZSF—T Washer 1
B Ml Standard perforation RRRRN b 7 L=
- : L P P Iy -
£ p NI :/& U
B . U N S 7,
S TR (e
1. Round hole @10, square pitch 15mm VNV
Iy XN Y/s¢ ’
e B ' ' : NP LE ¢ )
i 2. Round hole @10, triangular pitch 15mm 1 11 asher 2
~ He s/ p asher
20705 |}
I N NN NN " 7/ !
¥ ety e
o / / 5%
,,,,,,,,,,,,,,,,,,,,,, Y/ 0% 0
T ":/""0'
7 "/ "0'0
sy NG00
| o7/l 0
T T :.’//:‘ :,/o " ;
/:'9/':" ) connecrion 10
/// ‘ .
I N | | handrail bracket end part
e e e e e e e e//}‘:':':
- /y 0590907 ] )
7 /9%
I :::::' O
Ll & “
- 11 ] T T 1] D T L ; ;‘:::::: :::: 6 l ~
- T i ! T ! ! i BT 00 QI O 0"t . P
R R TR Y g RESG
300 DS e L NN L
- ;\‘\‘\‘1 R OE L RSN 20 30
. NRSRNR || SESINTINT . -
N || SESTYSINSISEt| | | SISTISIRINEt
. :\:\:\:‘ NN
Sttt SN (*) only for powdercoated stairs
SIS © oMo G20 202
(S :‘:‘:‘:‘ :‘2;" .7 Fixing Elements Standard Reference Oualify
NIESIORES / | Rivet 4 8xt2mn DIN 7337 handrail Al
N / : e M12 x 25 Hexagonal head bolt | DIN 933 / IS0 4017 HOG
. s M12 hexagon nuf DIN 934 /150 £033 HDG
Washer for M12 DIN 125 / 150 7089 HDG
M12 x 30 Hexagonal head bolt DIN 933 / IS0 4017 () A
Confrast marking M12 hexagon nuf DIN 934 / 150 4033 (+) Al
Washer for M12 DIN 125 / 150 7089 () Al
. Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.
;:; T
E‘OZFdesetermmate welds: T-welds as fillet welds a = 3 é = Generaalc:z:i::;c:: E?gggﬁ E; iggzs(:r:lcaf‘l:nBWEIdEd - N Ref dw GME;T;S;;;EZ% @ [1ONS %E;?};i‘;;’gé{ii:”;”
2. Connection of elements do as butt welds with full penetration E§ A',’ﬁ”fzj" M:zvfol,m Alzzv:aoob[;)l) “1‘;”;01,‘;"" szzviozot;oo Above 4000 Steel S235JR ’ Ritnnr — .
3. With hot-dip galvanized components, welds should be closed. | & u N 5 " % “ NS/SS-EN 10025-2 ﬁfr Iozozzz.w ot Varia P stair-L single.idw




Assembly of Varia P stair-L single.idw

Rev

Mosfer Skuggas Vg 7
bl 6417 ARVIKA swEDEN
Tel 05H-18107%
ww.abcsolutions.se

ot Varia P stair-L single.idw

Ritn.ar

] i Gent
Ref dwgs

surface treatment

Ytbehandling

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

r. | 03.02.22-TM

Titel
Title
M
Mass
Konst1

Steel S235JR
NS/SS-EN 10025-2

Material

Above 4000

+8

to 4000

Above 2000

Above 1000
to 2000

Above 400
to 1000

Above 120
to 400

General folerances regarding the construction welded
according to NS/SS-EN ISO 13920 class B

to 120

Above 30

1°7x3
0601 N3-Nd

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

1. All indeterminate welds: T-welds as fillet welds a = 3

Comments

Nttt aeeeeea

$

- W w w
O e s S —

ryOoOOO, ------rr aueBO

P OoO0o0o00e AL OO
P»OOOOSPSOPSs, - - ' auevaVNTUN

POOOSSSSO SO THSISINIRISTRIRTRERTN
,Jo\\\\\\\\\b YYYSYSSS Y Y %X X 9N

S 9% TN Q2V2NNNYNS

T aca N 2Aa0v""9eY "0
.\\\\\/ﬂ\\\\\\ :

o000 oo

vNe°2NeTNNTN2NTCN©2N2C©DCNLN
VNN N2VNRCANACNNNS
~ NS0
AR B B B B B B B B B B 3N
*VeSUNTNTNANVVLVILLS

SN TCNUN2"NLQ2A2AGLCE2

Nacaa a2 wa
3 A '

At & % % % % % % % B U W 3

%

S SO AL S LA

P OOOPOOOOOOPO
OO0 vVOOOPSPOPOS.
W N W IN W W N W W W W
voooooooooSoPse
O OOOPOOOPOOOOO.
0000000000
¢\\\\\\\\\\\\—

i

S S SO AL S S S S LA

P OOOSOOOPOPOPPP
OO0 VOoOOOOSS.
W W W W NN W W W
voooooooSooS0s
O OOOOOPOOOOPOO.,
00000000000
T YO YYYYY,

voooveooooooeel

PR YEYY W
vooooess.
r 00000000
Y YRy YYyy
Y YYYEYYwm
ryrryyryryry.

Contrast marking




P stair-L single.idw

|14

Var

/0 09 9 &

S OPOOI 9O OO

P OOOOO IO O
\\Q\\\\\f%\ﬁ

A X A A N A S

S SeSe"S2" 222
TSN N"NU"NRUNRNCNN2NCNN
TSN NNTNNTN©CCN2NCNEN
ST eSS N2"N™WNC©C™DCN
ST NN CN2NCN
ST eSS NTNUN2"N2DNCR2DCNL
TSN NRU"NRDNCNTDLCLT
ST NN N2NC
TSN NNNNNTNCN2NCN
TS 2"2C®2C

f?lllﬁ@lllllll
)ﬁ/"% Sasaasasas

N A
U"Mf“"""%

Vi ansvarar ej for frappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

\ Mosfer Skuggas Vg 7
: Bl 64171 ARVIKA SWEDEN
( Tel 0511-181077
ESBSOLUTIONS| v .zbcsolutions se

single.idw -

Ritn.nr
vahe Varia P stair-L

Skala
e M

B oo s | 1:20

Gen. folerans
} i General folerances
Ref dwgs

Steel S235JR
NS/SS-EN 10025-2

elded

tion w

construc

al tolerances regardin

garding th
according to NS/SS-EN ISO 13920 class B

370X3

0601 N3-Nd

Comments

= 9

close!

tration

2. Connection of elements do as butt welds with full pene

1. All indeterminate welds: T-welds as fillet welds a = 3
3. With hot-dip galvanized components, welds should be




